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Sl. No.1
QBID:1007451

Identify the correct preposition to make a meaningful sentence.

Radha left Amsterdam two days .
(1) after (2) ago
(3) since (4) between

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B

Sl. No.2
QBID:1007452

After his mother's death. Raja was at a loss to know what to do.
(1) careful (2) confused
(3) unable to decide (4) distracted

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B

Identify the meaning of the underlined idiom from the options given.

Sl. No.3
QBID:1007453

Choose the correct option to make a meaningful sentence.

Yesterday, I to buy clothes from the Spark Mall.
(1) go {(2) are going
(3) gone (4) went

(A) 1
(B) 2
(©) 3

(D) 4
Answer Given by Candidate : A

Sl. No.4
QBID:1007454

Identify antonym for the underlined word in the sentence.

Rohan’s heroic act saved many lives.

(1) miserly (2) quiet
(3) chivalrous (4) coward
(A) 1
(B) 2

(Cc) 3




(D) 4
Answer Given by Candidate : A

Sl. No.5
QBID:1007455

Find correctly spelt word from the option given.

(1) Restorent (2)
(3) Consistent (4)

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Tolerent

Excultent

Sl. No.6
QBID:1007456

Identify the correct passive voice for the sentence given below :

The government has launched the Swachta Abhivan Programme in India.

(1) The Swachta Abhivan Programme is launched by the Government in India

(2) The Swachta Abhivan Programme was launched by the Government in India

(3) The Swachta Abhivan Programme has been launched by the Government in India
(4) The Swachta Abhivan Programme had been launched by the Government in India

(A) 1
(B) 2
(<) 3
(D) 4

Answer Given by Candidate : B

Sl. No.7
QBID:1007457

Identify the correct indirect speech for the sentence given below.

Rhea asked. “Did vou watch the movie in theatre last night?”

(1) Rhea asked me whether I saw the movie in theatre last night.
(2) Rhea asked me whether I had seen the movie in theatre last night.
(3 Rhea asked me whether I had seen the movie in theatre earlier night.
(4) Rhea asked me did I see the movie in theatre earlier night.

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.8

QBID:1007458




Match List I with List IT

List-I (Word) List-II (Antonym)
A Antique L Approval
B. Antipathy 10 Charge
C. Absolve III. Native
D. Alien . Vogue

Choose the correct answer from the option given below:

(1) ANIB-IV.C-LD-II
(2) A-IB-II.CIILD-IV
(3) AT BII.C-IV.D-I
4 A-IV.B-I1.C-II.D-IIT

(A) 1
(B) 2
(<) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.9
QBID:1007459

Choose the correct sentence.

(1) Let us get down for business. (2) Let us get down to business.

(3) Let us get down at business. (4) Let us get down over business.

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.10
QBID:1007460

Identify the part of speech of the underlined word in the following sentence.

Uneasy lies the head that wears a crown.

(1) Noun (2) Preposition
(3) Adjective (4) Verb
A 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : D

Sl. No.11
QBID:1007461

Who among the following enjoys the rank of a Cabinet Minister of the Indian Union

(1) Deputy Chairman of the Planning Commission
(2) Deputy Chairman. Rajva Sabha
(3) Secretary to the Government of India
(4) Comptroller and Auditor General
(A) 1
(B) 2
(c) 3

o9




(D) 4
Answer Given by Candidate : C

SlI. No.12
QBID:1007462

Which Indian State launched “Mukhvamantri Nibir Matsvachash Prakalpa™

(1) Assam (2)  Kerala
(3) Tripura (4) Telangana

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A

Sl. No.13

QBID:1007463

Government of which state has planned to conduct a programme . under the banner of
Rashtriyva Ashmita Manch® on April 23, the birth anniversary of freedom fighter Veer
Kunwar Singh who played a key role in the mutiny of 1857.

(1) Chattisgarh (2) Bihar

(3) Rajasthan (4) Uttar Pradesh
(A) 1

(B) 2

(c) 3

(D) 4
Answer Given by Candidate : C
Sl. No.14

QBID:1007464
Which features of rocks undergo changes in the process of Metamorphism?
{A) Structure
(B) Texture
(C) Carbon Content
(D) Actual chemical composition

Choose the correct answer from the options given helow:

(1) (A). (B) and (D) only
(2) (A) and (B) only
(3) (A). (B) and (C) only
(4) (B) and (C) only
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.15
QBID:1007465

]

The headquarters of the Ghadar Party was located in which of the following city?

(1) Karachi (2)  Lahore

(3) Montreal (4) San Francisco
(A) 1

(B) 2

(c) 3




(D) 4
Answer Given by Candidate : B

Sl. No.16
QBID:1007466

Six friends — Amar, Bimal, Chandni. Deep. Eknath and Farid are sitting on a bench facing in
the same direction. Chandni is sitting between Amar and Eknath. Deep 1s not at the end.
Bimal is sitting to the immediate right of Eknath. Farid is not at the right end. Who 1= to the
immediate right of Farid?

(1) Deep (2) Chandm
(3) Amar {(4) Eknath
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.17
QBID:1007467

In a row of soldiers facing North., Lal Chand is 8® to the right of Khurshid: Mayank is 16%
from the left end: Lal Chand is 16™ to the right of Jaikishan. who 1s 27% from the right end of
the row: Khurshid is nearer than Mavank to the right end of the row: there are 5 zoldiers
between Mavank and Khurshid. How many soldiers are there between Jai Kishan and
Mayvanak?

(1) 3 2 2

(3) 1 (4 4

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.18
QBID:1007468

A B. C,D and E, each are to be taught for one month duration from January to May one after
the other though not necessarily in the same order by lecturers P, Q. R. S and T. P teaches
course B but not in the month of April or May. Q teaches course ‘A’ in the month of March. R
teaches in the month of January but does not teach course 'C or D’. Which course is taught

by §?
(1) Either Cor D & A
(3 Either D or E 4 B

(A) 1
(B) 2
(<) 3
(D) 4

Answer Given by Candidate : D

Sl. No.19
QBID:1007469




Choose the set in which the third statement is a logical conclusion of the first two.

(I Some Xs are Ps. Some Ps are Ys. Some Xs are Ys.
(IT)  All Bangles are beautiful  Some beauties are crazy. Some Bangles are crazy.
(III)  No belief is strong. Only strong have muscles. No belief has muscles.

(IV)  All orangutans are men. Some men are strong. Some orangutans are strong.

(1) (D only
(2) (I) and (IT) only
(3) (IV) only

(4) (I) and (IV) only

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.20
QBID:1007470

Which of the following arguments are formally correct?

(I Some bikes are motorbikes. All motorbikes are scooters. Some bikes are scooters.
(IT) All children are students. No students are bad. No children are bad.
(III) No pencil is pen. Some pens are markers. Some pencils are markers,

(IV)  Every man has a wife. All wives are devoted. No devoted has a husband.

(1) (II) and (III) only
(2) (I) and (IV) only
(3) (I) and (II) only
(4) (I) and (III) only

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.21

QBID:1007471
The numbers of four digits can be formed with the digits 1. 2. 3. 4 and 5. where repetition of
digits 1= not allowed 1=

(1) 30 (2) 60
(3) 120 (4) 240

(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : B

Sl. No.22
QBID:1007472




A and B travel from point P to Q. a distance of 42 km at 6 km/h and 8 km/h, respectively. B
reaches @ first and returns immediately and meets A at R. Then the distance from points P to

Ris
(1) 32 km (2) 36km

(3) 40 km (4) 46 km

(A)
(B)
©)
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.23
QBID:1007473

If A purchases 10 oranges for % 25 and sells 9 cranges for %. 25, then gain percentage 1s
1 .
(1) 12— 2 1=
9
1
(3 99— 4) 11
) 9 (4)
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.24
QBID:1007474

Two natural numbers are in the ratio of 3 : 5 and their product 1z 2160, then the smaller

number 1s

(1) —12 2y 12
(3 36 (4) 60

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.25
QBID:1007475

If L = and L] are given fraction. then largest fraction 1s
12 3 8
e @ 32
12 8

: 2 ;

(3) 5 (4) All are equal
(A) 1
(B) 2
©) 3
(D) 4




Answer Given by Candidate : Not Answered

Sl. No.26
QBID:1025001

What was the main aim of Kyoto Protocol signed in Kyoto Japan in 1997 under a United
Nation Framework?

(1) Reduce acid Rain (2) Reduce Greenhouse Gas emissions

(3 Reduce Ecolgical damage (4) Reduce damage due to disasters

A) 1

B) 2

(c) 3
(D) 4

U AT U & F q8q 1997 T TR W H SEaid FEre] Werhiel T G 3evd 4 AT7

(1) HATAT T I HH T (2) iETsT 9 g 1 F0 F
(3)  WTfEATaE &Td F FH AT (4) SAIEIAT H B 9T TFAH F FH FET
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.27

QBID:1025002

What is the correct sequence of the four elements of observational learning?

(D) Attention, Imitation, Desire, Memory (2) Attention, Memory, Imitation, Desire

(3) Desire, Attention, Memory, Imitation (4) Memory, Attention, Desire, Imitation

(A)
(B)
(©)
(D)

A W N R

SEATFTEE ST F =W A F 8 w7

() =M, 3o, 3=, oyfe (2) =, iy, sgE, =
(3) 3o, wm, w5l e () gfa, &, =81, I

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.28
QBID:1025003

What is the main aim of Janani Suraksha Yojana?

(1) To reduce birth rate (2) To decrease fertility rate
(3) Reduction of MMR (4) Family planning

A) 1

(B) 2

©) 3

(D) 4




T g A e e Ay
(1) =79 S ! &8 HE0 (2) T - e9ar i g i g2
(3) UH U W H HH HE (4) vER - FEeE

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.29
QBID:1025004

Golden Revolution is related to

(1) Jute (2) Pulses
(3) Milk (4) Horticulture and Honey

(A)
(B)
©)
(D)

T ShITe HeET 8

A W N R

1) 2 (2) @A
(3) == (4) =TTEET S wEg

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B

Sl. No.30
QBID:1025005

The duo called as architects of New Economic Policy 1991 in India

(1) P.V. Narsimha Rao and Manmohan Sing
(2) Rajeev Gandhi and P.V. Narsimha Rao
(3) Manmohan Sing and Pranab Mukharjee
(4) Pranab Mukharjee and Yashwant Sinha
(A) 1

(B) 2

(c) 3
(D) 4

T A 9% @i fifd 1001 F1 AvgwEn fFE S w1 w= =

(1) 1. qefarer v9 @w ganEg e (2) Tt et @it F. i =
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.31

QBID:1025006




In the Big Five theory of Personality, “E” stands for

(1) Empathy (2) External
(3) Energy (4) Extraversion

(A)
(B)
()
(D)

=fFaea & T g = 8 3 W A 2

A W N R

(1)  ureft (2) vFESASA
(3)  uSf (4) TFEZTES
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.32
QBID:1025007

The technique of Dream Analysis is associated with

(1) Sigmund Freud (2) Eric Berne
(3) Pavlov (4) William Glosser

(A) 1
(B) 2
(© 3
(D) 4

M FmE i T g § § e " S 2t
(1) qHE HIS (2) ufeF =

(3) EIEEIE] (4) TafeEm &

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A

Sl. No.33
QBID:1025008

Which of the following is not related to Environmental protection?

(1) Use of paper bags (2) The Precautionary Principle
(3) Poverty alleviation (4) Sustainable development
A) 1
(B) 2
©) 3
(D) 4
Frafefa # @ = a1 vl g § gafum @ 27
(1) = i dfer & sm@m 2 uEfrw fagia
(3) TR I (4) oea fawm

(A) 1




(B) 2
() 3
(D) 4
Answer Given by Candidate : C

Sl. No.34
QBID:1025009

Which agency facilitates child adoption and foster care in India?

(1) Child Adoption Regional Agency

(2) Child Adoption Resource Authority

(3) Child Adoption and foster care Agency

(4) Adoption and foster care organization
(A)
(B)

(©)
(D)

A W N =

ffafiga O & =4 |97 A9 96 § 5= &1 12 o4 31 97ed 9190 997 2@9Te § SEEd] 0 27

(1) T= F1 ME w4 FadT G sy

(2) == = e o Gt TETe aiteR
(3) == I TG i AT T TN qYT ST Fad ST
(4)  TE o SN T -1 997 ZEATe ST e

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.35

QBID:1025010

“Satyagraha for drinking water” is associated with

(1) Mahatma Gandhi (2) Dr. Bhim Rav Ambedkar
(3) Vallbhbhai Patel (4) None of the above

(A)
(B)
©)
(D)

“OF Fd F AT g ¥ gafT &
(1) HereAT amedr (2) =N T =Ry
(3) ToTHHAE Ted (4) 3FT T T IS 740

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : C

A W N R

Sl. No.36
QBID:1025011




Arya Samaj was founded by whom?

(1) Raja Ram Mohan Roy (2)  Swami Dayanand Saraswati

(3) Swami Ramkrishna Paramhamsa (4) Swami Vivekanand

(A) 1
(B) 2
(c) 3
(D) 4

ST OIS =h! AT fohe <R i ?

(1) TS T HE T (2) == ZaFE T
(3) THTHT THES e (4) e

(A) 1

(B) 2

© 3

(D) 4

Answer Given by Candidate : D

Sl. No.37
QBID:1025012

Who are the beneficiaries of the ‘CBSE Udaan Scheme'?

(1) All students who score above 90% marks in class X
(2) NRI students studying in CBSE affiliated schools
(3) Girl students residing in India and enrolled in the subjects Physics, Chemistry or

Mathematics in class XI and XII
(4) Girl students residing in India and enrolled in any subject in class XI and XII
(A) 1
(B) 2

(c) 3
(D) 4

fr=fafas 0 5 #4 #1503, 33F e & o 27

(1) =t faeneff, < Fen-X # 00 Ufaw & <If9 3 IH F4d &

(2)  #Eiums. o gaiga el § weEE T TLAR. A, e

(3) uwa T FEE W= @ SR Fwa- XL wen-XI0 8 BT - ifas 9, e aes a e d
o :

(4) oA 4 Fam w= @ i wer- X1 1 wen-XI1 o fet of g 8 amitsa s

(A) 1

(B) 2

) 3

(D) 4
Answer Given by Candidate : C

Sl. No.38
QBID:1025013

Which of the following is a plagiarism detecting software?

(1) Mendley (2) Endnote
(3) URKUND (4) Zotero

(A) 1




(B) 2
(©) 3
(D) 4

TETeTEd | H ST "ileieds SR1 S 96 - A U Hieaal 27

. . ..,

(1) H=sd (2) TR
(3) %= (URKUND) (4) U
(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : C

Sl. No.39

QBID:1025014
Direct Solar energy is used for

(1) Water heating (2) IDistillation
(3) Drying (4) All the above

(A) 1
(B) 2
(c) 3
(D) 4

(1) ¥@ ™y F+ & oo (2) v

(3) 5F (4) S Ayt
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D

Sl. No.40
QBID:1025015

How many Sustainable Development Goals (SDGs) are set by United Nations?

(1 15 2y 16
(3 17 4 18

(A)
(B)
(©)
(D)

A W N R

T T2 T A T Haw e 35w et e 27

(1) 15 (2)y 16
(3) 17 (4) 18
(A) 1
(B) 2
©) 3
(D) 4

Answer Given by Candidate : B

Sl. No.41
QBID:1025016




The unauthorized copying and distribution of software is known as

(1 Cracking (2) Software literacy

(3) Software piracy (4) Hacking

(A) 1
(B) 2
(C) 3
(D) 4

=

HiFeaaT =l HaY Tidrerd aa™ FT AT 36 F1 (9000 1 791 Fedr] 87

(1) i (2) HIFZ=a FrEdn
(3)  wiFea=w & =5Hl (4) B

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.42
QBID:1025017

Which one of the following is not an environment movement?

(1) Chipko (2) Narmada Bachao Aandolan
(3) Pani Panchayat (4) Bhoodan

(a)
(8)
(©
(D)
Prfafaa 3 & 2 @ wafero srigem a8 27

(1) fawmt (2) e = A
(3) Ot gETEE (4) gm

A W N R

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.43
QBID:1025018

Who is the founder of Brahmo Samaj?

(1) Dayananda Saraswati (2) Raja Ram Mohan Roy
(3) Vivekananda (4) Rishi Aurobindo

(A) 1
(B) 2
) 3
(D) 4

(1) =a== gu=d (2) TN TW 9iEd 1
(3) TEwE= (4) =W AR
(A) 1

(B) 2




(c) 3
(D) 4
Answer Given by Candidate : B

Sl. No.44
QBID:1025019

‘Lok-Adalat’ refers to

(1) Out of court settlement

(2) Decreasing the load of cases from the court for speedy justice
(3 Summary trial

(4) People deciding about their problems

(A) 1

(B) 2

(© 3

(D) 4

(1)  weal & e wwgiar e

(2) el % T GheHl & 919 H B HE i e = e v
(3)  =fem gevem - wham

(4) < o aEEnst o e = e

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.45
QBID:1025020

Probation services entail

(1) Lenieney in correctional services
(2) Institutional services
(3) Community-based treatment of offenders

(4) Letting off the offenders

(A) 1
(B) 2
(C) 3
(D) 4

@ - sty # gefya danait § afefee 2

(1)  2m - gy deneit § ol swan

(2)  HeuTTa Hand

(3) sl % my aqge W snaiE sSEEr s
(4)  srferEt = far o g

1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.46
QBID:1025021




Through which constitutional amendment, “the right to property” has been deleted as a
fundamental right?

(1) 42nd (2) 44t

(3) T3rd (4) 8l

(A)
(B)
(©)
(D)

A W N =

fore gdaiSes F9aE = orean § CETaiG ok AR W Oiferss ARl 8 HeRre femn 27

(1) e (2) e
(3) et (4) zFEEREl
(A) 1
(B) 2
©) 3
(D) 4

Answer Given by Candidate : B

Sl. No.47
QBID:1025022

What is Geothermal energy?

(1) The energy stored within the Earth  (2) The energy from wind

(3) The energy from Sun (4) Hydro electric Energy
(A) 1
(B) 2
(<) 3
(D) 4

(1)  g-"t=a = (2) 9= Fell
(3) = - == (4) e g1 Ieanien ferwelt e
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.48

QBID:1025023
Mercury and lead are two toxic elements that cause

(1) Noise pollution (2) Land pollution
(3) Metal pollution (4)  Dust pollution

(A)
(B)
(€)
(D)

A W N R




e

(1) S T (2) 9 (=) Tgu
(3) =1 HeTT (4) 9 TgEm

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.49
QBID:1025024

National Disaster Management Division works under the ministry of

() Home (2)  Finance

(3) Family Welfare {(4) Environment and Forests

(A) 1
(B) 2
(c) 3
(D) 4

1) = (2) o=
(3)  df@Er FHeam (4) TFER HE A

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.50
QBID:1025025

The long term weather changes such as heat waves, rising sea levels, melting glaciers,
flooding, storms, droughts, fires refer to :

(1) Global warming (2) International warming

(3) Geo-local warming (4) Local warming

(A) 1

(B) 2

(©) 3
(D) 4

TIEH T SrHeTe IREaT 95 19 a9, S T 5 ", [@EAredl &1 Taed, 9T S@1, T%E, T3, S
a\?z W;Ea"a‘ it %?

(1)  yosdE 9o (2) H=USEE AT
(3)  g-vuEE = (4) TuEE aTH

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : A

Sl. No.51

QBID:1025026




Putting oneself in the shoes of another person and understanding his/her perceptual world is

(1) Empathy (2) Positive Regard

(3) Genuineness (4) Sympathy

(A)
(B)
(©)
(D)

A W N =

ZHE =l $1 SR AT AT I WIS IHF ATACHE FHI H] FHSAT -

(1)  wmEgE (2) amEataE az
(3) T (4) wEEyfd
(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.52
QBID:1025027

Which word among the following refers to physical of psychological exhaustion caused by an
inability to cope?

(1) Frustration (2) Crisis

(3) Burnout (4) Insommia
(A)
(B)

()
(D)

A W N R

HTEAT F L Hehd o HEV S YRR 1 TE5 96E Sl 8, S8 [0 Fefaiad § § i | 9o 999
feran =11 =epar 27

(1) e (2) wehe - foufa

(3) TR (4) g i

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : C

Sl. No.53
QBID:1025028

The term ———— Psychology refers to using findings from Psychologieal research to
solve real-world problems.

(1) Pragmatic (2) Practieal
(3) Academic (4) Applied
(A) 1
(B) 2
(c) 3

(D) 4




o et T, TAEEE ST § e T #1 A7 Fha el
(1) A e (2) =TT

(3) Hzifaw (4) HAITFFT

(A) 1

(B) 2

© 3

(D) 4

Answer Given by Candidate : Not Answered

oy ~
& Al

Sl. No.54
QBID:1025029

Who is the author of the book “Mind. Self and Society™?

(1) Ruther Ford (2) George H. Mead
(3) Mahatma Gandhi (4) DML.S. Gore
(A) 1
B) 2
©) 3
(D) 4
“HI5E, HeH US WA 6% FI oE@® S 87
1y FwE (2) i . g
(3) e (4) THTE. T
(A) 1
B) 2
©) 3
(D) 4
Answer Given by Candidate : B
Sl. No.55
QBID:1025030
Social Stratification means
(1) Socialisation
(2) Social Change
(3) Division of people on the basis of birth and social status
(4) Divizion of labour
A) 1
B) 2
©) 3
(D) 4
(1) TTHTS ]
(2) @I g
(3)  #H-TauTH
(4) <9 AN TR 92E] % AT 9 AR o e
(A) 1

(B) 2




(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.56
QBID:1025031

are ‘distinct forms’ of ‘Justice’ in Indian Constitution.
(1) Social, Economic, Political (2) Justice, Empowerment, Well-being
(3 Social, Psychological, Emotional (4) Educational, Social, Judicial
(A) 1
(B) 2

(c) 3
(D) 4

adE Giaae § =@ & AT -Her B9 2

(1) AT, HATh, TSI (2) ===, TEItEaE, e

(3) @ISk, HEAIHE, STE9EE (4) SHféors, wmH, = =
(A) 1

(8) 2

©) 3

(D) 4

Answer Given by Candidate : A

Sl. No.57
QBID:1025032

One of the following does not figure in the Millennium Development Goals (MDGs)

(1) Eradication of extreme poverty and hunger
(2) Improvement of maternal health
(3) Combating HIV/AIDS, malaria and other diseases

(4) Promoting good governance

(A)
(B)
()]
(D)

frfefae 4 & o meate o=@ == (Millennium Development Goals — MDGs) i afifsr 0 38
AR -

A W N =

(1) = T T g S AT
2) = = guE A
(3) u= o =t/ vgE (HIV/AIDS), gerfn = gad =fafEr & o

(4) 7= ATYIET H1 TieETEd 2

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.58
QBID:1025033




Depreciation of domestic currency leads to rise in

(1) Export (2) Import
(3) Export and Import both (4) Neither Import nor Export
(A) 1
(B) 2
(c) 3
(D) 4
et g5 % IEEEE o SeuE w #
() fe@H (2) 3mEma
(3) T 3 smam gAl | (4) 1A e § i @ et |
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.59

QBID:1025034
Consultancy comes under which sector of economic activity?

(1) Primary sector (2)

(3) Tertiary sector (4)

(A) 1
(B) 2
(c) 3
(D) 4

TS ST AT 21 AT Rk TR wE A W 2

(1) s @3 (2)
(3)  qeaw @3 (4)
(A) 1
(B) 2
c) 3
(D) 4

Answer Given by Candidate : A

Secondary sector

Quarternary sector

fefe i

Sl. No.60
QBID:1025035

What is Goods and Services Tax (GST)?

(1) A corporate tax (2)
(3) A gift tax (4)

(A)
(B)
(©)
(D)

A W N B

T U T H T 7

Teh 34N =R

(1)
(3)

A direct tax

(2)
(4)

An Indirect tax

T T8

Ush HATCAE L




(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.61

QBID:1025036

Choose the correct statement with respect to Norm

(1) Loosely set pattern of group behaviour.
(2) Standards of behaviour expectation shared by group members.
(3) Lack of conformity of norms is accepted in group.
(4) Moral values are not part of norms.
(A) 1
(B) 2
(c) 3
(D) 4
qHES T 27
(1) &9 U =792 & SS9 ° el 2900
(2)  THE F Tl gR1 AT H e S9eTEl o SAESN H A FT
(3) 79 H OWEE & Al % e = A wl F =R w5
(4) =T go9 AMEg T S A 2
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.62

QBID:1025037
The Age for getting registered with ATAL PENSION YOJNA is

(1) 18 - 40 (2) 20-40
(3) 45 —-60 (4) 50-60
(A) 1

(B) 2

© 3

(D) 4

S U AT § AT A JTe Saidd =hl 30 a% 2
(1) 18 - 40 (2) 20-40
(3) 45— 60 (4y 50-60
(A) 1

(B) 2

© 3

(D) 4

Answer Given by Candidate : Not Answered

VIS

Sl. No.63

QBID:1025038




Covid-19 pandemic is considered as : —

(1) Chemical disaster (2) Natural disaster

(3) Human-made disaster (4) DBiological disaster
(A)
(B)

()]
(D)

Hifae-19 Tz fee =7 § At st 27

(1) TEmElE s (2) Wil amTe
(3  #ra-fffE s (1) S e

A W N =

(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : D

Sl. No.64
QBID:1025039

Which of the following is not the step of PRA?

(1) People (2) Knowledge
(3) Administration (4) Participation

(A) 1
(B) 2
(©) 3
(D) 4

frferfiga # & = @1 LT, (PRA) 1 =on 78 37

(1) EEGl (2) 9+
(3)  TEmEA (4) O

(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : C

Sl. No.65
QBID:1025040

The Appropriation Bill, 2022 is related to

(1) Commerce (2) Law and Justice
(3) Agriculture (4) Finance
(A) 1
(B) 2
©) 3
(D) 4
fafirdm fadees 2022 frod gefaa 27
() ==y @2 fufa e =m
(3 T (4 Fm

(A) 1




(B) 2
(©) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.66
QBID:1025041

RUTAG stands for

(1) Rapid Urban Transport Action Group
(2) Rural Technology Action Group
(3) Rural Transformation Authority of Government

(4) Rural Unit Technical Advancement Group

(A) 1
(B) 2
<€) 3
(D) 4

I A A, = A e e

() it g e g

(2) = SR v g

(3) =& gEwnT Ui sits e
(4) =it gfae Soitchet UgaTEEE q9

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A

Sl. No.67
QBID:1025042

Which variable is not a component of HDI
(1) IMR (Infant Mortality Rate) (2) Life expectancy

(3) Access to knowledge (4) Decent standard of living

(A) 1
(B) 2
) 3
(D) 4

%I &1 =7 (variable) T=.E1.37E. (H.D.L) =1 @ges 74 @

(1)  #mE.a.an. (IMR) (2) wefea =g
(3) W T A (4) 3faa FEA-=m

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.68

QBID:1025043




Given below are two statements

Statement [ :  Jan Shikshan Sansthan provides vocational training courses to the

marginalised for their empowerment.

Statement 11 : Inclusion of SC and ST is emphasized as beneficiaries in Jan Shikshan

Sansthan due to their disadvantaged position.

In the light of the above statements, choose the appropriate answer from the options given

below
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement I is correct
(A) 1
(B) 2
(c) 3
(D) 4
F 71 % fgu o 2

Fal: =9 foiEm T HmE @ (margenalised) & TEifdasw 94 = foe =mEEEE gfaw &

Foaa I1: =9 e 559 0 o= S @R FgEEa S99 & an o Ied =213 R 9 5 T 2

i 3 et afsi & At @ 31

ST FIF F A 1, T B T GEed 7§ 79 39 I F =99 Hiew

(1)

(2)

(3)

(4)

(A)
(B)
(€)
(D)

1
2
3

a4

F97 [ 37 1121 =& 2

Fo9 I &1 11 =41 74 2

Fy= 1 921 2, =i a9 11 o 2

Fya I 7o 2, St %o [ od 2

Answer Given by Candidate : Not Answered

Sl. No.69

QBID:1025044




Given below are two statements

Statement [ 1 Real-self is one's actual perception of characteristics, traits, and abilities
that form the basis of the striving for self-actualization. The ideal-self is

the perception of what one should be or would like to be.

Statement 1T :  When the real-self and ideal-self are very close or similar to each other,
people feel competent and capable. The mismateh between real-self and

ideal-self causes anxiety and neurotic behaviour.

In the light of the above statements, choose the appropriate answer from the options given

below

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement I is correct
(A) 1
(B) 2

©) 3
(D) 4

H= 31 %om f2u o 3

FT L Trdfas-w fosare, aa ofit grEaie F aEedt gk 21 S sren-faty | um e =
T2 T 1 THE FO

Fo I1: o adtash- & SEe - U g8 & Fgd o AeaiE o 51 ¢, A1 UF gE 4 fHer -sed ¢
Al T AT SR TR SO FG E | T 9 At - S ey -5 6 2 ¢l o J
U =76l S8R =l 0 594 3|

I FIH o SATArF °H, H 50 M0 FEedl § H HEE 39T S0 1 99T a0
(1) = I eire I 2MT o &

(2) Fu9 1 &R 11 241 T7od 2

(3) Fy= 1 921 2, w1 a9 11 7o 2

(4) = It 2, wifeeT #9a [T ad 2

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.70
QBID:1025045




Given below are two statements

Statement | :  BSocial values are cultural standards that indicate the general good

deemed desirable for organized social life.

Statement 11 :  The process of socialization may not aim to inculeate social values in an

individual’s personality.

In the light of the above statements, choose the appropriate answer from the options given

below

(1) Both Statement [ and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement Il is correct

(A)
(B)
(©)
(D)

1 2 o ey e E

A W N B

-

Fod l: AW god 98 ARG T 8 W A STaTs F e #0 © SR e A e
= foru =nifed @ast - 2

FEI: @ awar 2 & amsim £t afen w1 st GEh =t F e @ amtes o9 1 30w

A1 9 2|

ST K & AT H, T 50 MU e U F gE 39T 3L Rl 5E it
(1) == [&m e =8 2
(2) == &R M =A 7o §

(3) &g 1= 2, wifeeT %= I e 2

(4)  Fu9 1ea 2, e woa [ &8 2

(A) 1

(B) 2

(c) 3

(D) 4
Answer Given by Candidate : C

Sl. No.71
QBID:1025046




Given below are two statements

Statement [ :  The primary characteristics of a capitalist economic system is the belief
in ‘private enterprise’ and the virtues of the market economy. A pure
capitalist system believes in the maximum of government interference
over the economic system.

Statement 11 :  Socialist economic system believes in centralized planning where all
important decisions regarding production, investment, resource
allocation, determination of prices, exports and imports are taken by a
centralized planning authority and controlled, regulated by the
government.

In the light of the above statements, choose the appropriate answer from the options given
below

(1) Both Statement I and Statement IT are correct
(2) Both Statement [ and Statement II are incorrect
(3) Statement [ is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement I is correct

(A)
(B)
(©)
(D)

A 9 o fog e @

A W N =

wo [ SErEr Sids wonel! i wrathe fOEar 98 § 6 9 AfFana smm S IeEm ademaen %
AFON 0 AU WEdl @) UF [F9g dSiare] Wonell SArde wonefl § SAtae § HAtaw wehnl
FEAEM ° fEreEs w1 o

Fo [1:  woEE fds == F<ga FEem 7 omen wd 2 el samer, fEw, @ faa,

o ot oo, - S oo = = r.5 b W T . L -
et =1 fgtor, fafa dw sma @ gaf=a 998 geey S Fgigd e @01 gt fou

ST FI F A H, G B T w7 5 59 S99 I F =99 i
(1) =1z ad g

(2) Fyq I o I 541 7Ted @

(3) == IwE 2, < o I 7ed 2

(4) Fy [ 7e1d 2, i %99 1 &8l 8

(A) 1
(B) 2
) 3

(D) 4
Answer Given by Candidate : D

Sl. No.72
QBID:1025047




Given below are two statements

Statement [ :  Political parties play an important role in democracy.

Statement 11 :  Parties play a decisive role in making laws for a country.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement II is correct
(A)
(B)
(©)
(D)

A= 21 o fog e 2

A W N =

Foq [: oG § TSHITGE 26l i UF Hecaqn g 2|

Fa ;o 291 & fou e <= 8w forfaes yfasr fama 2
ST FAF F A A, 779 7 T e § F 7 39 I 1 =99 it

(1) e e I 5H o 2
(2)  Fua I &w IS4 Terd 8
(3) w14 2, ©fk %u= I 7em 2

(4)  Fud L7199 2, ot % [ 98 8

(A) 1

(B) 2

(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.73
QBID:1025048




Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) : Legislative measures alone can't reduce the incidence of crime.
Reasons (R) : Effective Implementation of the legislation does not require social support.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1)
(2)
(3)
(4)

(A)
(B)
©)
(D)

(A)
(B)
(©)
(D)

A W N =

Both (A) and (R) are correct and (R) is the correet explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) is correct but (R) is not correct

(A) 1s not correct but (R) is correct

2t &t e fgu mu §) uw wifirkem (Assertion (A)) % w7 # forfga 2 @ gou 35% SR (Reasons (R))
ER=E

wAfiEREE (A) | Shael duTien I H F90Y o faEr S % T8 R S gl

FA9 (R) : FT F IIEFR &1 F TeE w0 5 fon ammfyes men i smevmwa T8 2

I HY % s 5, A for o famedt § @ aed sugw swow w5 fifm

(D
(2)
(3)
(4)

1
2
3
4

(A) 3 (R) 1 51 2 3 (R), (A) i @& =men 2

(A) 3 (R) g1 7@ &, = (R), (A) i 7@ =ven 76 &
(A) é 2, w6 (R) 581 41 2

(&) ot 7 2, e ) w2

Answer Given by Candidate : A

Sl. No.74
QBID:1025049




Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  There is a gap between social policy statement and the development
programmes.

Reasons (R) : The reason is lack of political will and eommitment in the formulation and

implementation of programme.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1)
(2)
(3)
(4)

(A)
(B)
©)
(D)

A W N R

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) is correct but (R) is not correct

(A) 1s not correct but (R) is correct

Jr= 21 FF f5U U 2| U SAuEeH (Assertion (A)) % w9 H fafad 2 @ 80 39F FH0 (Reasons (R))

+ w9 4
ATFRI (A) AT i == A o e 3 S 2
=m0 (R) : SEHT FRU FRGHT o =9 A FEAT=T A U Usideh Soal-3iad A a=egdl =i

it 2l

ST U % ATET H, 79 75U M foeew U F g6 39 3L R 59 it

(1)

(4)

(A)
(B)
©)
(D)

W N =

4

(A) 3R (R) 31 761 2 ¥R (R), (A) F1 #E =0 2

(A) i (R) 2F1 =@ 2, <A (R), (A) it & =wen =& 2
(A) 7@ 2, @i (R) =& =21 2

(A) @ 7 B, A (R) 521 2

Answer Given by Candidate : Not Answered

Sl. No.75

QBID:1025050




Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : The social and cultural changes are so closely interwoven that cultural
change involves social change.

Reasons (R) : Technology not only influences our social relationships but also influences
the direction and character of cultural change.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 18 true but (R) is false
(4) (A) is not false but (R) is true
(A) 1
(B) 2
©) 3
(D) 4
Jr= 21 FF f5U U #| v SAuEud (Assertion (A)) % B9 H fafigd 2 a1 g0 39 FE0 (Reasons (R))
FETY

At (A) - AT ST B TiEa UF gl § 594 915 =1 H 92 g ¢ % migas A

H i rEterh gitaa e
Frm (R) : TRl 7 ad gEN HETSE HaE] W OA9E S’ @ U SiahidE a6 fEEn
A =iy =1 of warf=d w24 21

ITRE 9 F AT 4, 9 7B T HEew 0§ w8 3 1 99 i

(1)

(4)

(A) 1
(B) 2
(c) 3
(D) 4

(A) @R (R) 2 oea 2 @i (R), (A) 1 =t = #
(A) &7 (R) 341 573 2, wfe (R), (A) F1 7t =men 76 2
(A) 7= 2, @A (R) @03 2

(A) ¥75eg 72 2, ot R) T3 2

Answer Given by Candidate : A

Sl. No.76

QBID:1025051




The nobel prize winning microfinance organization ‘Grameen Bank' is known with the work of

(1) Mohd. Yunus (2) Kailash Satyarthi
(3) Amartya Sen (4) Abhijit Banarjee

(A)
(B)
©)
(D)

A W N =

ft= 3w fgu o &) v Ffikea (Assertion (A)) % ®9  fofiaa 2 9t gou 35% S0 (Reasons (R))
ER=E

Al (A) TRNIET M 2 HHAR a0l i UiE St & o Bt o1 8 s 9w s s

0 (R) afeensl w1 GHAas FE1 HI AETEGA T241 2 Ife 3% ol o1 1 s wm s
AT &l

I FeH % s 4, e for T ferhedi # @ w3 = i
(D (A) 3 R)ZHT 9 & 3T (R), (A) i 9@ =ren &

(2 (A3 (R) 2 T4 E, FFE (R), (A) T e A 2

(3 (M) R, & (R) 3@ 2

@ (AR, A R) TR

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered

Sl. No.77
QBID:1025052

Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : Women's participation in natural resource management is essential for its
success.

Reasons (R) : Awareness and empowerment of women will enhance their participation.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) 1s false but (R) is true

a) 1
(B) 2
©) 3
(D) 4




fr=r &1 e feu Mo ¥ us wfiweR (Assertion (A) % ®9 # fafga 2 91 go0 39% FRO (Reasons (R))
HETH

sfipya (A) . Wil daea waya i oot % foo wfrensdt 6 wrfierl s 21
H0 (R) : afeetiad &t SR 3 qurEE Ieht arfiedt § Hada wi

I HU * e 5, A for o famedt § & aed v I W ww fifvm

(1 (A) 3 (R) g1 w8 E S (R), (A) 1 =& =men @

@ (A SR I T E, A R), (A) R =men = 2
(3 (A FE R, 9 (R) v T 2

(@ (A T T R, @ R)EA R

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B

Sl. No.78
QBID:1025053

Given below are two statements. One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) :  The joint family system is most suitable for families engaged in agriculture.
Reasons (R) : With the establishment of new factories in urban areas, workers from

villages move to the cities which disintegrates the joint family.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) and (R) are true but (R} is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true

(A)
(B)
(©)
(D)

A W N B




F= =1 Fue 75U W 2| vF Hi9wea (Assertion (A)) F =9 ¥ fafga 2 @1 g5 39 w00 (Reasons (R))

FETY
AR (A) TAF AR IO F-T9H THER F S S9E ¢
F (R) : =T & 0 9% il % wuriye B 9W ", gusE e # e 4 =9d 9 8ty

T dfEw faaw s 2

I HAA AT §, S 2y T e § 8 T8 39 =1 it

(@) (A) @it (R) 2 51 3, 9 (R), (A) F 78 = 76 2
(3) (A== 2, @ (R) 353 2

(4) (A) 75T 2, witea (R) 99 2

(A) 1
(B) 2
(<) 3
(D) 4
Answer Given by Candidate : B

Sl. No.79
QBID:1025054

Given below are two statements. One iz labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) : Cancer 1s a non-infections disease.
Reasons (R) : Cancer impairs normal body functions for a few days.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 18 true but (R) is false

(4) (A) 18 falze but (R) is true

(A) 1
(B) 2
) 3
(D) 4




= 31 %99 T3 U §) v A9F9A (Assertion (A)) % ®9 H fARgd 2 91 380 35+ Frv (Reasons (R))

FETY
HAFT (A) HET UF FEFEF U 2
Frm (R) : SE G Wi wEl # A e % T et e 2

ST F9 % A °, 1 5 T e § 8 w996 3w =9 it

(1) (A) &R (R) 241 &ea 2 &R (R), (A) =i &8 =ame 2
(2)  (A) FR (R) 21 57 2, @tk (R), (A) =i W& =men 76 2
(3) (AT 7, 9 (R) o8 2

(4 (A ma g, @A (R)FF B

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.80
QBID:1025055

The resources on which mankind is dependent are provided by various sources to the ‘spheres’.

Which are these essential ‘spheres’?

(A) Lithosphere

(B) Hydro sphere

(C) Solar sphere

(D) Atom sphere

(E) Biosphere

Choose the correct answer from the options given below
(1) (A), (C), (D) only

(2) (C), (D), (E) only

(3) (A), (B). (E) only

(4) (B). (D), (E) only

(A) 1
(B) 2
(c) 3
(D) 4




aHE fa R wEEE w PR 2, 3 Afiw a6 g nee # weE ey 9@ 2 Fefates 0w #R E
(A)  wHeHEd

(B) omsA

(C) R A=A

(D)  THEIEE TE6

(E) <9 #=d

A=t feg T ool @ WE ST H = Al

(1) ==« (A), (C). (D)

(2) === (0), (D), (E)

(3) == (A). (B). (B)

(4) =@ (B), (D), (E)

(A) 1
(B) 2
(©) 3

(D) 4
Answer Given by Candidate : A

Sl. No.81
QBID:1025056

Which among the following items are formal means of social control?
(A) Education

(B) Police

() Traditional customs

(D) Law

(E) Ideologies

Choose the correct answer from the options given below
1) (B), (), (E) only

(2 (&), (C), (D) only

(3 (B), (C), (D) only

(4) (A), (B), (D) only

(A) 1
(B) 2
(c) 3
(D) 4




| i i i Lk

fferfad sereal O O Gmmifee = = = H 9rae S 9=1ies @ 7

(A)  fwem

(B) dgfE

(C)  wrwrE fifa-fars
D) =

(BE) T

Hr= feu U famedi § § @€ 3T @ =49 it
(1) === (B). (D). (E)

(2) ==« (A), (C). (D)
(3) === (B), (0), (D)

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.82
QBID:1025057

There are three different ways to use biomass as biomass energy. These ways are -

(A) Change to hard metal

(B) Burn to produce ashes

(C) Burn to produce heat and electricity
(D) Change to gas-like fuel.

(E) Change to liquid-like hiofuel

Choose the correct answer from the options given bhelow:
(1) (A). (B) and (C) only
(2) (C), (D) and (E) only
(3) (B). (C) and (D) only
(4) (A), (Cy and (D) only

(A) 1
(B) 2
(c) 3
(D) 4




AT 1 TEMEE el & &9 0 390 4 & o 70 8l T 8 -
(A)  FHoR 91g § FEe

(B) <o T

(C) i siiw fersteft a1 a7 = fore st

(D) | F 72 F f99 7 9iEa

(E) o R =i TEEE | qiE

Fr feu Tu famedi § | @El I w1 =9 hifeu
(1) %=« (A), (B) #ir (O)
(2) =« (0), (D) i (E)
(3) ==« (B). (C) ¥k (D)
(4)  F=a (A), (C) ¥k (D)

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered

Sl. No.83
QBID:1025058

In economics there are a few basic factors of production

(A) Land

(B) Labour
(C) Market
(D) Capital
(E) Enterprise

Choose the most appropriate answer from the options given below

(1 (&), (B), (C). (D) only
() (A). (B), (D). (E) only
3)  (B). (C), (D), (E) only
4)  (A), (B). (C) only

(A) 1
(B) 2
(C) 3
(D) 4




Fefoen § 3e97EA % 5% g acd 8

(A)
(B)
(©
(D)

(E)

ELiC]

o

AR

oo
Hiflan I8H =1 "=y

i feu mu famedi # & ged IugE IO @ 999 Fifb

(1)
(2)
(3)

(4)

(A) 1
(B) 2
(©) 3
(D) 4

e (A), (B). (C), (D)
Fae (A), (B), (D), (B)
Faw (B), (0), (D), (B)

Had (A), (B), (C)

Answer Given by Candidate : B

Sl. No.84

QBID:1025059

In Globalisation for small producers and workers

(A)
(B)
(©)
(D)
(E)

Workers jobs are more secure.

Small manufactures have been hit hard due to severe competition.

It may lead to widening of income inequality among various countries.
Workers are given their fair share of benefits.

Expansion of unorganised sectors.

Choose the correct answer from the options given below

(1)
(2)
(3)

(4)

(A)
(B)
©)
(D)

A W N =

(A), (B), (C) only
(B), (C), (E) only
(D). (E). (B) only

(B). (C). (D) only




T ICAEHT SR AR B AT F=H [ T A -

(A)
(B)
(©)
(D)
(E)

To-fi 5o 4 @3 i sEnEar 98 g96dt 21

Hrar fou 1o faeredl O & w37 %1 w4 it

(1) F=a (A). (B). (O)
(2) %=« (B). (C), (B)
(3) Faa (D), (E), (B)
(49  F=a (B), (C), (D)

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : D

Sl. No.85

QBID:1025060

Right to Information means

(A)
(B)
(©
(D)
(E)

The right to seek information from any public authority

The right to inspect only limited work being carried out by public authority.
The right to take information only in the form of electronic format.

The right to inspect records held by public authorities

The right to take certified copies of records held by public authorities

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

(A)
(B)
©)
(D)

A W N =

(B). (C), (D) only
(A). (B), (C) only
(A), (D), (E) only
(A). (B), (E) only




TEAT F SATEE 1 FE 2

(A)

(E)

T ot e AR T FEAT O 1 ATTER

et ot TrehE wifeeRrl & g fRU = 12 i o i B9 ° e e SR

FAC ORI HIHE % B H AT T H AT

Wﬁ:m%m@mﬁmmﬁmmm HATTRR

TTSTh T AT oh g7 W U ki =it ywnivre gttt o9 1 @t

= fou o et § @ wE I w1 =99 i

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

1
2
3

4

Fad (B), (C), (D)
@9 (A). (B). ()
= (A), (D), (E)
Fae (A), (B), (E)

Answer Given by Candidate : D

Sl. No.86

QBID:1025061

NEP 2020 policy’s vision includes the following key changes to the current system

(A)

(E)

Moving towards a more multi disciplinary undergraduate education.
Sub optimal governance and leadership of HEIs.

Revamping curriculum, Pedagogy. Assessment and student support for enhanced
students experiences.

Governance of HEIs by highly qualified independent boards having academic and
administrative autonomy.

A rigid separation of disciplines.

Choose the correct answer from the options given below

(1)
(2)
(3)

(4)

(A)
(B)
(©)
(D)

A W N =

(B). (C), (A) only
(B). (A). (D) only
(A), (C), (D) only
(C) only




w it 2020 Fifa F sewta Frefefad seeagyl aftads adam goef § mive @

(A)

(B)

AESATITEF TEATaF (a7 il AR AGF qgran 2

T § TS 1 IT55EAT AYIET FH A9 |

Fenfer = sayet ° 3G & o weasa, e o, gear SR e 59§ 5enes e

I= UfuTierd w9 @is TRl &R SR TeEiEs SEEal UH 2, o R0 U9 T A H1 ATT9EH|

GRAT F1 0T JYFR

Fr f2u U faehedl 0 T HEl ST 1 wE i

1
(B) 2
3

(D) 4

Faa (B). (C), (A)
=aa (B), (A), (D)
Fad (A), (C), (D)

== (C)

Answer Given by Candidate : Not Answered

Sl. No.87

QBID:1025062
Match List I with List IT

ListI List IT
Non Government Organization Pioneers
(A) TARUN BHARAT SANGH (I) Ela Bhatt
(By SEWA (I) Rajesh Tandon
(C)y NAVDHANYA (ITI) Rajendra Singh
(D) PRIYA (TV) Vandana Shiva

Choose the correct answer from the options given below :

(1)
(2
(
(

f—

3
4)

R

(A)
(B)
()]
(D)

A W N =

(A)-T), (B)-(IV), (C)-(I), (D)-(IIT)
(A4)-(IID), (B)-(I), (C)-(IV), (D)-(ID)
(A4)-IV), (B)-(III), (C)-aD), D)D)
(A)-(IID), (B)-ID), (C)-(D), (D)-(IV)




F=-15 =79 =1 F=1-11 e Fifse

71 11
T~ TR T 9y Ygsih

(A) =V 9Rd §9 @ =3
(B) = D) T 2T
(C) Ta9= (III) T T2
(D) T (IV) =& femn

Fr=r feu v famredt 3 & @@ 3 w1 == Fifeu

(1) (A)-(II), (B)-(IV). (C)-(I), (D)-(11I)
(2) (A)-(IID). (B)-(I). (C)-(IV). (D)-(1I)
(3) (A)-IV), (B)-(I1I), (C)-II), (D)~(D)
(4) (A)-(I1D). (B)-(IT). (C)~(I). (D)-(IV)
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.88
QBID:1025063
Match List [ with List 11
List I List 1T
Legislations Year of
enactment
(A) Factories Act () 1961
(B) Dowry Prohibition Act (IT) 1986
(C) Juvenile Justice Act (III) 1948

(D)  Untouchability Offences Act  (IV) 1955

Choose the correct answer from the options given below

(1) (A, (B)-(ID), (C)-(D). (D)-(IV)
2y (ARD, (B)-(I). (C)-(I1L). (D)-(IV)
(3) (A, (B)-(D). (C)-(1I), D)-(IV)
4)  (A)yD, B)-(D), (C)-(1LI), D)-(IV)

(A) 1
(B) 2
(c) 3
(D) 4




-1 % w9 =1 g=1-11 faem Fifae

ef-I
fafr— o

(A) =G TF
(B) zew fvyg waz
(C) TFeir =3 uFe

(D) SF=ITFal S99 T

=-11
EARCL]
I 1961
(I) 1986
(IIT) 1948
(IV) 1955

= feu U fa=edi § 9 T@E 3 1 994 hifau

(1) (A)-(IID), (B)-(IL), (C)~(D), (D)-(IV)
2) (A)-(D), (B)-(D), (C)-(I1I), (D)-(IV)
(3) (A)-(I1D), (B)-(), (C)-(1I), (D)-(IV)
(4) (A)-(I), (B)-(II), (C)-(I1I), (D)-(IV)
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.89
QBID:1025064
Match List I with List IT
List 1 List I1

(A) Ninth Schedule

(B) Tenth Schedule

(C) Eleventh Schedule

(D) Twelfth Schedule

)]

(I

(11I)

(1v)

Contains  provisions of Municipal
Corporation

Contains acts and orders related to
land tenure, land tax, railways,
industries.

Contains provisions of disqualification
on grounds of defection.

Contains provisions of Panchayati Raj.

Choose the correct answer from the options given below

(1) (A)-(IV), (B)-(III), (C)-(ID), (D)-(D)
(2) (A)-(I), (B)-(I1D), (C)-IV), (D)-(I)
(3) (A)-(ID), (B)-(IV), (C)-(D), (D)-(I1T)
(4) (A)-(D), (B)-(1D), (C)-(I1D), (D)-(IV)

(A)
(B)
©)
(D)

A W N R




T=1-1 % =79 =1 711 e Fitem

-1 Eigll
(A) i g (D) =8 Fr-fom & gty s e 2
(B) =l = (D) o0 FEaFERl, 9@ *, @I IAW H HEEE
srtafm 7 1w 2)
(C) varedi gt (III) Sci-vqeq & AR T @ 3804 & e
(D) =i g=t  (IV) "=m=Ed TS &1 789 4 5 A

Fr1 fou U faeredi § & @& 3R ®1 994 HiU

(1) (A)-(IV), (B)-(III), (C)-(IT), (D)-(T)
(2) (A)-ID), (B)-(I1D), (C)-(IV), (D)~(I)
(3) (A)-ID), (B)-(IV), (C)-(1), (D)-(11I)
(4) (A)-(D), (B)-(II), (C)~(I1I), (D)-(IV)

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.90

QBID:1025065

Match List I with List 11

List [ List IT
Days Dates
(A) International Yoga Day (Iy 8% March
(B) International Women's Day (IIy 10 December
(C) World Environment Day (III} 21+ June
(D) International Human Rights (IV) 5% June

Day

Choose the correct answer from the options given below

(1) (A)-(D), (B)-(IID), (C)-(IV), (D)-(1D)
(2) (A)-(IV), (B)-(III), (C)-(IL), (D)-(D)
(3) (A)-(ID), (B)-(I1D), (C)-(L), (D)-(IV)
(4) (A)-(I1L), (B)-(T), (C)-(IV), (D)-(1D)

(A)
(B)
©)
(D)

A W N =




Tt % wry %1 11 frem fifag

-1 11

femm faf
(A) i = fea O suH
(B) R Afeen feam (In 10 feer
(C) fova matam femm (I 21 53
(D) s wFe sfawr V) 59

fem

= fon o famedi # & w3 == A

(1) (A)-(D), (B)-(I1I), (C)-(IV), (D)-(1I)
(2) (A)-(IV), (B)-(I11), (C)-(ID), (D)-(I)
(3) (A)-(ID), (B)-(IID), (C)-(D), (D)-(IV)
(4) (A)-(I1I), (B)-(I), (C)-(IV), (D)-(1D)

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D
Sl. No.91
QBID:1025066
Match List I with List IT
List [ List IT
Acts Years of
Commencement
(A) Mental Health Care Act (I 1956
(B) National Green Tribunal Act (I 2017
(C) Hindu Succession Act (ITT) 1993

(D) Protection of Human Rights Act  (IV) 2010

Choose the correct answer from the options given below

(1 (A)-(D), (B)-(IT), (C)-(IV), (D)-(I1T)
(2) (A)-(ID), (B)-(IV), (C)-(D), (D)-(111)
(3) (A)-(IV), (B)-(11D), (C)-(D), (D)-(1T)
(4) (A)-(D), (B)-(I1I), (C)-(IV), (D)-(1D)

(A)
(B)
©)
(D)

A W N =




F=-15 =79 =1 F=1-11 e Fifse

-1 =11
(A) THEfEF E=re TEig Aty I 1956
(B) Wi Bfia @fuae statas ) 2017
(C) Temg sTian Ataf=m (III) 1993
(D) #= Siawr wEm StatEm (IV) 2010

Fr=r feu v famredt 3 & @@ 3 w1 == Fifeu

(1) (A)-(D), (B)-(I), (C)-(IV), (D)-(I1I)
(2) (A)-(II), (B)-(IV), (C)-(I), (D)-(I1I)
(3) (A)-@V), (B)-(I1I), (C)-T), (D)-(II)
(4) (A)-1), (B)-(I1D), (C)-(1V), (D)-(II)

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.92

QBID:1025067

Match List I with List IT

List I List IT
Personality Popular contributions
(A)  Aruna Roy (I)  Power of laborers and farmers
(B) Iron Sharmila (IT) Acid Attack Survivors
(C) Laxmi Agarwal (IIT) Teach for India
(D) Shaheen Mist1 (IV) Struggle against AFSPA

Choose the correct answer from the options given below

(1) (A)-(0), (B)-(IV), (C)-(ID), (D)-(I1I)
(2) (A)-(ID), (B)-(IV), (C)-(D), (D)-(I1I)
(3) (A)-(IV), (B)-(1), (C)-(I1T), (D)-(1T)
(4) (A)-(D). (B)-(I1D), (C)-(IL), (D)-(IV)

(A)
(B)
(©)
(D)

A W N =




F=1-1 % =19 1 F=1-11 e Fite

-1 T-11
(A) =M T )  wtgeri AR fmamET i o
(B) =g wifder (I) Ol & gHel o Stasie
(C) =&t swaT (III) &= % sfea
(D) = (IV) & (T UF uE 1 ) F Beg g

Fr= fau v fawedl § & &2 3T &1 999 $ie

(1) (A)-(D), (B} (IV), (O)-(ID), (D)-(III)
(2) (A)-(ID), (B)-(IV), (C}-(I} (D)-(I1I)
(3) (A)-(IV), (B) (D, (O)-(I1I), (D)-(1I)
(4) (A)-(I), (B)-(ILL), (C)-(ID), (D)-(IV)
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.93
QBID:1025068

Match List T with Last IT

List I List IT
UN conventions Year

(A) Convention on the Rights of the () 2006
Children

(B) Convention on Elimination of All (IT)y 1989
forms of Racial Discrimination

(C) Elimination of All forms of (III) 1965

discrimination against women.

(D) Convention on the Rights of persons (IV) 1979
with Disahility.

Choaose the correct answer from the options given below

(1) (A)-(D), (B)-(I1L), (C)-(ID), (D)-(IV)
(2) (A)-(IV). (B)-(III), (C)-(I). (D)~(II)
(3) (A)-(II), (B)-(IV), (C)-(I), (D)-(III)
(4) (A)-(IT), (B)-(III), (C)-IV), (D)-(I)
(A) 1
(B) 2
(c) 3
(D) 4




TH-1% =12 =1 79111 faem i

-1 T=I-11
7.7, T 79
(A) == % Al F an § g I 2006
(B) 9 YN & SAHE,/FHE & IO * (I1) 1989
T T T
(C) ufeensdl & fawg g9 TR F 95919 (III) 1965
ER-EE!
(D) fE=amt + Afasn F 91 § g5 IV) 1979

Ji=r feu v fawewt § & 9 39 1 =24 Fifau

(1)  (A)-1), (B)-II), (C)-(II). (D)-(IV)
(2)  A-IV), (B)-dm), (O)-1), (D)~1I)
(3)  (A)-ID, (B)-AV), (C)-(D), (D)-(11I)
4  (A-ID, (B)-dL), (O)-AV), D)-D)

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.94

QBID:1025069

Studies show that ———————— is the optimal amount of stress that people need to
positively promote their health and sense of well-being, which coincides with — M ——
theory.

(1 Eustress; Maslow's (2) Intensity: Cognitive consistency

(3) Eustress; arousal (4) Distress; biological instinet

(A) 1

(B) 2

<) 3

(D) 4

FATH T @ T gfcaeT i 98 S5Ead W1 8, S CF i 9 AR ST Feerdr 6
AT Tl TFAAF B9 F AcATEd F4 o (o SFE9aF 2, = fag@ @ o= @ 2
(1)  33%09; Al 1 (2) iz, SsEEEF Sl

(3)  sFE; S (4) =m; Sifas g

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : A

Sl. No.95

QBID:1025070




An irrational fear and negative emotional reaction to homosexuality, their life style and
identity is called

(1) Homophaobia

(2) Homo Sexphobia

(3) Both Homophobia and Homo Sexphobia

(4) None of these

(A) 1
(B) 2
(c) 3
(D) 4

T T HEH 2] I T HH A1 27

(1)  =fmE (2) e

(3 fgm (4) HEEE
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.96
QBID:1025071

Panchayati Raj Institutions in India have brought about one of the following.

(1) Spread of Education
(2) Eradication of untouchability
(3) Formal representation of weaker sections in village governance

(4) Given ownership of land to the weaker sections

(A)
(B)
((®)
(D)

TRE § = a9 5eare | Hmtetad 5 8 v e 2

A W N R

(1)  foem =1 wEw

(2) ST 1 I

(3) T % ST U SN S F AEE gid e

4 FOAR T 1 G = = T2 FT
( 1 :

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.97
QBID:1025072




Which of the following items are not agencies of socialisation?

(A)
(B)
()
(D)
(E)

School
Immigration
Religion
Cinema hall

Irrigation

Choose the correct answer from the options given below

(A)
(B)
(©)
(D)

A W N R

(C), (D), (E) only
(B), (D), (E) only
(A), (B), (C) only
(B), (C), (D) only

ffafea 1 & 394 = 02 ausism i vstaaT 98 27

Fi= f2u U fahedt § | w1 3T T 999 Fitau

(1)
(2)
(3)
(4)

(A) 1
(B) 2
) 3
(D) 4

=74 (C), (D), (B)
Fad (B), (D), (E)
== (A), (B), (C)
= (B), (C), (D)

Answer Given by Candidate : B

Sl. No.98

QBID:1025073




Biomagnification is a process.

(0 Where some compounds remain in the eco system in virtually unchanged form as they
are passed from one organism to another by predation.

(2) When some compounds change their properties and become part of other organism.

(3) Magnification of compounds with one step after the other

(4) Bio degradation of environmental system in which some compounds continuously
change their characteristics.

(A) 1
(B) 2
) 3
(D) 4

ST-AFET UF U 2

(1) &1 5o I i T § AT9E w7 § ATEtog =9 § 79 T8 8 F9is o I ga
¥ g St H = 9 2l

(3)  UF % =G gEL AU H AR F AR

(4) =T Smelt W S SuHed, fSEd 5w AT e St Hemare w1 afEfid w15 2

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.99
QBID:1025074

Corporate Social Responsibility (CSR) considers

(1) Impact of company’s failure.

(2) Impact of the company’s actions on society.
(3) Impact of company's success.

(4) Impact of company's wind up.

(A) 1

(B) 2

(© 3

(D) 4

FITAIe |HTT Saiegacd (i ug. e, ) § safase g -

(1) = & e =1 993 (2) =+t F T F1 GHN W 99
(3) =l i FEEEl F TAE (4) wFH F1 T FT T AEH

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.100

QBID:1025075




Development that meets the needs of the present without compromising the ability of future
generations to meet their own needs regarded as
(1 Community development (2) Sustainable development

(3) Global development (4) National development

(A) 1
(B) 2
©) 3
(D) 4

st fifet g sl smeTEmast o Fit g % A § osien fee e adwe i smavmmms A
qfd ®e1 ot faera +1 fofm w0 § e 9 27

(1)  =rErs fawm (2) daa Frwm
(3 afvas fawm 4) u fawm

(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : B




